INTEGER GOLF

Using two dice, you will roll BOTH twice. The first roll will represent your

positive humber. The second roll will represent your negative number.

Hole

@ 2. You advance to the next hole, once the condition has been met.
3. Low score wins.
Name Name

Condition

The difference is

: positive
2 The sum is -2
3 The product is odd
4 The sum is greater
than the difference
. The sum is
divisible by 3
6 The difference is
even
- The product is
negative
The product is
8
greater than -2
9 The difference is

zZero







